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PART-1/ 9 -1
(Questions 1-40) / (w9 -wfmm 1-40)

TR g T SR

Directions (Questions 1-4): fn each of these guestions, choose the option that is most nearly |
“ppasire in meaning to the word given in capital letters. :

l.  VACILLATION _ ‘
(1) Steeliness (2) Intransigence {3) Steadfastness (4) Occupation

_r.:

DERELICTION
(1) Assiduousness {2) Propriety (3) Uncanniness (4) Verbosity

3.  SANCTIMONIOUS
(1) Devout (2) ]_mrri_;}us (3 Emp'ln{;al (4) Maudlin

4.  ENIGMATIC
(1) Industrious (2) Mysterious (1) Enthusiastic (4) Straightforward

Directions (Questions 5-6) : Fill in the blank.

5. Itis earth’s gravity which people their weight

(1) gives (2) give (3) giving (4) given
.  Total weight of all the ants in the world i1s much greater than

1) to all human beings (2) that of all human beings

{3) is of all human beings {4) that of the all the human beings

Directions (Questions 7-8): In cach of the following questions, out of the four alternatives choose
the one which can be substituted for the given words/sentence.

7. One who studies about insects

(1) Entologist (2) Emtomologist {3) Horologist (4) lconoclast
: ieve in the institutin of marriage v
8. A person who does not believe in the institutign o | ol .
{ 1) Misogynist (2) Altruist (3) Misogamist {4) Celibate

Directions (Questions 9-12): In each of the following questions, choose the option which best
expresses the meaning of the idiom/phrase underlined in the sentence.

9, [havchjumngmdplant:}gﬂﬁdnfhim. ;
(1) laid {2) chanced upon (3) decided (4) understood
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10. He broke off in the middle of the story.

(1) failed (2) began cTying
(3) stopped suddenly {4) felt uneasy
11.  He refused to be Jed by the nose.
(1} follow like an animal {2) be treated as a fool
(3) follow submissively (4) be treated violently

12.  When they immigrated to a new country, it is safe to say they did it for loaves and fishes.
(1) happiness (2) honest reasons
(3) material benefits (4) resettlement

Directions (Questions 13-16): [n each of these questions, choose the correctly spelt word.

13. (1) Provocateur {2) Provacator (1) Provacautor {4) Provacateur

14. (1) Indispansable {2} Indespensable (3) Indispensable (4) Indespansable
15. {1} '|'iﬂtinﬂbhu!:_!tiun (2) Tintinabulation (3) Tintinabullation (4] Tintinnabulation
16, (1) Obnoxiouse {2) Obnoxious {3) Obnouxious {4) Obnoxeous

Directions (Questions 17-20): /n each of these questions, select the word that is most similar in
meaning to the word given in capital letters.

17. IMPROVIDENT | |
(1) Shabby (2} Incapable of proof (3} Prophetic (4) Thriftless

18. INGRATIATE

(1) Infuriate {2) Gain favour (3) To accept bribe {4) Infuse
19, CLEMENT
(1) Lenient (2) Daring (3) Ruthless (4) Contented

20. EXPLICATE
(1) To apologize
(3) To strengthen

(2) To make something complicated
{4} To explain
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T (WP 21-23): T ww § fru o A @ @Y @ o anen @6 v fow o fees d 9
i)
21. Ta vamofism =

(1) sm=fes (2) aAgeaiyE (3) 3=aH (4) HEH

2. 9FE F TSN @R A
(1) Fremet (2) oy (3) TEH (4) forgman

23, THY ®t 9@ g8 w1 A
(1) T (2) HfEgw] (3) ™R (4) TR

Tl (W 24-25): o v A o T MeTEd w1 wE o few o fawedt 8 @ afm
24, wig-di8 T I

(1) ¥ = (2) ==0 T (3) e = (4) FEI HETA FA
25, HEE! Y HEHE! AR

(1) Fets =\ =1 9 (2) T9a FAE HA

(3) BIE @@ = =@ = (4) 74 F = A HE

frdvr (U 26-27): T U ¥ UF w= = o # fav =m fawen fm o ¥, faed @ s oF W

2| Tet o4+t are fawen = =R w1l
26. (1) =it (2) #ifa (3) fef (4) ferdt

27. (1) == (2) F9 (3) T (4) 7=y

fodor (wvT zs-s:y:r—rwﬂlﬁﬁqﬂqmamﬁaﬁu-ﬁ?&:ﬁqmﬁmﬁﬁﬁﬁaﬁm
28. WL

(1) ¥ + *T (2) ¥ + & (3) 9 + F (4) T+ 3
29, FfE=Rl

(1) =f&: + FX (2) fE: + HHR (3) afE + THR (4) qfgwF + SN
30. T :

(1) J9: + 390 (2) 391 + 37 (3) F9: + | (4)TM + |
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3. w®  wm # i uf dgeE o w1 wEee fewe faend B
(1) =91 (2) =g (3) ffda= (4) H9am

34. T\ sw = w0 W w9 w d e .
(1) 9=+ (2) TaHE (3) ATAFHHE (4) ST

ﬁﬂmm35-31}:9mﬁﬁﬁqmmwnﬂwﬂﬁmdﬁmmmﬁwﬁﬁﬁﬂml
35. fa=

(1) =% (2) W& (3) T (4) ==
36, wfim

(1) F2% (2) &R (3) 57 (4) T4
37. Y4

(1) 995 (2) =9 (3) T (4) T

‘F-'I'E?T{W3Hﬂ):ﬁqﬁﬁﬁqﬂqwmuﬁfmﬂaﬁwﬁﬁﬁﬂmﬁqmﬁmﬁﬁﬁqﬁm
38. WERfa®

(1) F=fiE (2) FHi™ (3) =T (4) THH
39. A .
(1) TﬂE,T'T (2) T (3) =med (4) =fEm
40. g
(1) 5 (2) 7 (3) = (4) S
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wele 3= wE W wfea e w7 S e w1 yam fwan wm g7
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(2) faeen = FraEa =1 9li|m F:
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(4) sifqifen forem & e 1 gUEE He

Frefefas § @ foa ©F F e A B T g ® IEe 62
(1) fizt (2) #rard (3) BT (4) TEH

(3) A= (Feopoit) feremt & ferg i 70 wum
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34,
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57.

freafirfem § | w0 siteifen fieen W) uw fiwe Tl §2

(1) SR (2) f=eis 10 (1) ¥ OS v (4) ¥ # *1% T
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(1) feema wfes wrden = ot 5@ (2) Terd W= W e

() R T e (dwp) ® fag wrwls sER (4) T W e

2. Frafefem § @ s oow difen wwe osdes Tl 8

(1) .ty (2) .vob (3) .mdv (4) .amr
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(1) $Tem Fet waim § (2) e wata w8

(3) wlem wr W ¢ (4) (1) 3R (2) =

. ﬁmﬂﬁﬂmﬁzm?ﬂﬁqﬂﬁﬁﬁi?
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Which of the following is not a type of an Operating System?

(1) Linex (2) Windows 10 (3) Mac OS X (4) None of these
Computer kevboard shoricut key Cirl + K is used to

(11 Close the currently active program (2) Open the START menu

(3) Insert hyperlink for selected text (4) Open a new program

Which of the following is not a video file extension?
(1) fiv (2) .vob (3) .mdv $5) =

Which of the following elements is unique for each cell in an Excel worksheet?
(1) File name (2) Cell address (3) Row heading (4) Column headir

When working in an excel worksheet, If you see ##### in a column then what is wrong”
i 1) Column is too narrow. (2) Row is not tall enough.
(3) Column is too wide. (4) Both (1) and (2)

Which of the following is the default body font in Microsoft Word 20077
{1) Cambna (2) Arial (3) Calibri (4) Times New [

Who is the current Prime Minister of Australia?
(1) Tomy Abbot (2) Julia Gillard (3) Kevin Rudd (4) Malcom Tus

Who is currently the youngest Chief Minister of a state in India?
(1) Akhilesh Yadav (2) Arvind Kejriwal  (3) Mukul Sangama  (4) None of the

Which of the following is not a recipient of Dadasaheb Phalke Award?

(1) Shashi Kapoor (2) Gulzar (3) Pran (4) None of tt

im;r:x:rtis:condmmdbylndiaa_nd

[NDRA is 2 joint. bi-annual naval mil i

(1) USA (2) Russia (3) Jxpe

has won the Women's Singles trophy of the US Op

e gt oy (3) France (4) ltaly

(1) Spain (2) Poland

9
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61.

63,

66.

67.

68.

69.

70.

T8 UF § few gn = Gy weate s 87
(1) == (2} wig {].]FEF{ {43-521'?[

: mﬁﬁﬂmﬁ%mﬂﬁmﬁqwﬂwﬁmw.ﬁmﬁﬁﬁ@ﬁ
(4) SfeE

(1) Ferari (2) FanE (3) T

= At s w g freiem angﬂaanaﬂﬂaﬂﬁ,miﬁﬁﬁ___aﬂmwmaﬁﬁ
W A F QR v A, |

g W T Ty wee e T wer! @ fou Prefataa d @ RS 249 SO

T weE e m #7

(1) @8 5o Siesft (2) 90 o (3) HFETIE = (4) wftTyiERT SR
8 %91 7 2 foamr 2015 1 AT A9 9 ® A0 TES s Al F osfafe § G
(1) Ffewam (2) 2T (3) =t (4) SrE=
Wﬁfﬁﬁmtémmmwﬁaﬁﬁ%mﬁnﬁﬁmﬁmwmﬁ

(1) TEffEg (2) T (3) Tt (4) FEmESRE
Fr7-m 2w SAErdE g F F E H gEH § ke @9 aen Yeen fEwed 2 e
(1) ¥4 (2) 7= (3) Sfeerm (4) &9

ST v O fRw tw o fem #2
(1) 304 (2) %

ﬁﬁﬁwmﬁmmﬂaﬂwmﬁmmm%?
(1) 11 7=t (2) 11 w1 (3) 11 = (4) 11 femm=r

2 = zaE F=E U0 o U FER W OAe SN 39 F el T@R g wn?

(1) FfeT Famem T w5E fafes
(2) Tt e S T A, A
(3) S TE TH TE S AT TR A, SRR

H}WWWMW.W

(3) Hifem (4) TH-
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Juventus F.C. is AR
(1 Eﬂu:ialng .18  professional football club of which country”
(2) France (3) Spain i4) laly

Sportsperson ik '
Mandeep Jangra who was recently awarded with Arjuna award is connected with

which spont?
(1) Boxin

B (2) Kabaddi (3) Hockey (4) Volleyball
An Electio e
office "-"HHT hinmn;'b“‘““?f or a Chief Flection Commissioner has tenure of  years|
g or she attains the age of 65 years, whichever is carlier.

{2) three (3) five (4) six
Who was :
presented with 24th swali i ' ic "Sri '
PPt B Rannada?ﬂamwah Sammaan  for “hig epic: "Sri Ramaya
i;: ?S‘“:Eﬂrappa Moily (2) Jniram Ramesh
ubramanian Swami (4) Mani Shankar Alyyar

?[ﬁlgl: country sent its first astronaut named Andreas Mogensen in space on 2™ Septem

(1) Belgium {2} Denmark {3} Austria (4) Poland

proved by European Medicines Agency (EMA)?

Name the world's first malaria vaccine ap
(4) Fliesquirix

(1) Malaririx {2) Pestquirix (3) Mosquirix

to default on International Monetary Fund ¢

Which country becomes first developed nation
(3) Belgium (4} Russia

(1) Spain (2) Greece

Ancient city of Palmyra is located in which country?
(1) Iran (2) Irag (3) Syria (4) Turkey
the Tnternational Day of the Girl Child by the United Mations?

Which day is observed as
(3} 11 October (4) 11 Decembs

(1) 11 January (2) 11 February

Which airport is going to be the first solar powered airport in the country?

(1) Cochin International Airport Limited
(2) Rajiv Gandhi International Airport, Hyderabad

(3) Sri Guru Ram Dass Jee [nternational Airport, Amritsar

(4) Sardar Vallabhbhai International Airport, Ahmedabad

1l
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FrEer (0¥ 71-73) . 9w # v 23 @ fon R @ RN W @ H

R, Ay A, W-ﬂm.wmammm-&mme—ﬁﬂ_ﬁ_ﬁam%
S-S ARG ¥ T ¥y s o, g, e, @, e, den s e 1 | - s
ﬁﬁmmﬁﬁmmm%éﬁmmﬁmﬁﬁﬂﬂﬁl

" I U e w6 3wy e # o ww 3w e F e & R e A # Sl SR

TN UE el 960 29w # ol fiw zowg o T T
SR 36 A F T 1w ot o ol fiom R § s o et v 3w b
I % @R =f 8wy i e § wa § s v T v 39 @ R
I-fed o F A s o s wwe T T T
Wﬂmﬁaﬁamﬁmﬁﬁmﬁﬁﬁaﬁm—fﬁmﬁﬁﬁ?a

st At s T I=w ik v-few § w2

71, ‘R e w2

(1) =rasm
(3) 3= 9

(2) Stem
i4) LLE

72. ZM-few A H w0 w47

(1) 3799, dioa iR S

(2) F&m, S T dam

(3) 19, FEW SN ey (4) I &R How
73. = A & #F wa 17
(1) &3 R Hiaw (2) F&W, 319 3 Wem
(3) % 3R st (4) 59, = IR e
74, sf@en gt F MHZ, NIW, OKT, PNQ ?
(1) RRN (2) QRN (3) QRM (4) QUN
12
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Dirﬂ:ﬁnm (Questions 71-73) : Study the Information below to answer these questions.

5 : R ifferent
geven friends namely Ajay, Deepak, Varun, Amit, Pritam. Kadir and Jasmeet live it m#:]f::h a
puildings namely Ashiana, Top-Hill and Ridge. Each person is flying @ kit of his Eh";de,
gifferent colour Tike red, green, blue, white, black, yellow, and pink, not necessarily in (it 675

1 I i i 3 B 1 n 3 i.c--.
- Kadir is flying a pink kite and lives in the same building where Jasmeet Siays
*Ashiana’. o5

A

Warun is flying a black kite and does not live in Ridge building.

S

Amit does not live in the same building where Ajay or Plritam are living and is flying a
Tellow coloured kite. R

«  Deepak lives in Ridge building with one more person and is flying a green kite.
« None living in Top-Hill building flies a white kite.

: ing in Top-Hill
»  Only two persons are staying in Ridge building while three of them ate staying in Top-Fi
1‘.11.111@;_-;. ot M S T o O

+  Pritam does not fly a blue kite and stays in Top-Hill.

71. Who is flying the *Blue” kite ?
(1) Jasmeet (2) Pritam

Aj k
3y Ajay (4) Deepa

72.  Who are staying in Top-Hill building ?

i § t and Pritam
h‘lﬁ; 1} Ajav, Pritam and Deepak . (2) Varun, Jasmee >
. { } J " wl!}

. %t b0
; f'" (3) Ajay, Varun and Pritam - i (4) Ajay and Pritam b
P l,_p'" - o Ll et
‘:ﬁ

73. Who are living in Ridge building ?

(1) Ajay and Pritam (2) Varun, Ajay and Pritam

{%Deepak and Amit

? N
74. Complete the series MHZ, NIW, OKT, PNQ® @
(1) RRN ) QRN

(4) Deepak, Ajay and Pritam

Code-84/B ,1 'lf-.
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(1) 3% e | Feem @

(s i nHETm e

mEEsa IS ntFEEw

e eI ngE e d

5
T T, e bk
: “{?I.-_'ll-h,.:__h- e

e
. b B "'
R S E A | :.-j-\‘.i. R

Ly

=ET - ‘ .
meﬁmﬁw%%wmﬁfnmmﬂﬁmﬁm
'F-TE-._'EF:

| v S s s s s eI S W B

I =% == =% = To¢ === = TET TEs =

76. HEA :
ﬁﬁﬁ%?ﬁﬁg#nﬁfﬁﬁﬁﬂﬁﬁﬂﬂﬁﬁﬁ

=y -
L ﬂﬁmﬂw:ﬁwaﬂﬁwi

0. %N = ﬂfﬁfﬁaﬁ#i@mmm%i

77. &A1 :
mmmwwﬁiﬁﬂaﬁm#mmmﬂmﬂ:

78. & :

=
| wefaE A s S T T E w9 S R
s s 3 e T T s S e e
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pirections (Questions 75-78) -

qumbered as 1 and [1. Cn:asiéérl:i':h of these questions has a statement followed by tW0 conclusions

conclusions follows from th-e atalr.:mecsmbf'imegt o Bt Dacide, R S
nt. Mark answer as »

(1) if conclusion I follows

(2) if conclusion 11 follows

(3} if neither conclusion I nor 11 follows
(4) if both conclusions 1 and I1 follow

75. Statement -

There is mountin '
g concern that water wi i iti - . -
godiiiy will be a flash point for political, social and econom

Conclusions :
I. Waorld faces an endemic global shortage of water.

I1. The searcity of water will have seripus repercussions on our lives.

76. Statement :

Some politicians preach austerity to public while living in luxury and driving Mercedes.

Conclusions :
I. All politicians prefer living a luxurious life.
[I. There is a world of difference hetween preaching and practising.

77.  Staremeni !

medy is not necessarily harmless and should be used with caution.

L
=

Every natural re

Conclusions :
[ The natural remedies are not scientifically proven.

1. Everything natural has no side effect.

7% Statemen! .
[Intil our count
meaningless.

Conclusions .
I Political freedom and democracy are poles apart.

[I. Economic equality leads to real political freedom and democracy. _

ry achieves economic equality, political freedom and democracy W

T

Code-84/B 15
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80,

81,

82.

B3.

B4.

83.

Eﬂde‘ﬂi}fﬂ

}IE}I!.E%E} mother is the only daughter of Monika's father. How ic Monika's husband related to

(1) Uncle _(2) Father (3) Grandfather (4) Brother

A certain number of camel's and an equal number of men are, going somewhere. Half of the
owners are on their camel's back while the remaining ones are walking along their camels. 1f the
number of legs walking on the ground is 70, how many camels are there ?

S 2714 (3) 12 (4) 16

In a certain code, 15789 is written as XTZAL and 2346 is written as NPSU. How is 2354

written in that code 7

(1) NPTUL (2) PNTSL {3 NPTSL (4) NBTSL

Which term of the series 5, 10, 20, 40, ... is 1280 7
(1) 10th (2) 9th }33/ Rth (4) None of these

The number of boys in a class is three times the number of girls. Which one of the follor
numbers cannot represent the total number of children in the class 7

(1) 48 (2) 44 () 42 (4) 40

' ; ed W
1 tarted walking towards east and walked 35 m. He then turn _
e L t and walked 35 m. Finally he turned

is ri nd walked 20 m and he again turned r_igh _ _ : :
:2;:253 t'.jalked 20 m and he reached his destination. Now, how far is he from his starting

(3) 50 m (4)40m

T

on Saturday, which was after the 20" 1

1% day of that month was Tuesday, then on which date did R

(1)20 m (2) 3> m

Renu remembers that she met her brother

icular month. If the
her brother 7

(1) 25"

(2) 24" (3)23" (4) None of t
-

17
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A A AT A9 B 10% 39§ fe s a9 F W 20% S0 2R W He ) o 6
77200 72 ¥ 9=m F1 A0 e 2 .
(1) T12000 (2) 210000

¥

(3) 710200 (4) 211000
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(3) T300 (4) TROO ‘*:.,g\

(1) T400 (2) <600
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Bb6.

T'he sum and - : ; ks B
reciprocals? product of two numbers are 12 and 35 respectively. What will be the sum of their

|
[lll' —, - |. - q.
(=) < IL ==
3 (3 T (# =

silisg i1
The simplified value of —i'" el o2 15
1.8
373%3
(1) 2 (2) 1 (3) - WOEtR s paw

£

Vanya gave 10% in charity from her salary, and then 20% from the remaining she gave to h

BR.
friend as loan. She is left now with T7200. What is the salary of Vanya?
(13 T12000 (23 T10000 (3) T10200 (4) T11000
89. On what principal will the compound interest for 3 years at 5% per annum compound
annually 15 T63.057 '
(1) T400 (2) T600 (3) T300 (4) 300
90. A does half as much work as B, and C does half as much work as A and B together, If C a
can finish the work in 40 days, then together all will finish the work in
D 13% days (2) 15 days (3) 20 days (4) 30 days
91 A truck can finish a certain journey in 10 hours at a speed of 48 km/h. In order to cows
same distance in 8 hours, the speed of the truck must be increased by
(1) 6 kmh (2) 7.5 km/h (3) 12 km/h (4) 15 km/h
92 The ratio of age of Ram and his mother is 3 : 11. The difterence of their ages is 24 years
will be the ratio of their ages after 3 years?
: 3)1:4 4)5:4
(1)1:3 (2)3:2 (3)
19 4
Code-84/B
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% e e w1 Sa 3 £ A = A w1 Im 369 & & W A
(1) 81 (2) 33 ,uf*{}*" (3) 27 (4) 25
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(1) 35 - (2)36 (3) 45 (4) 54
frefafaa § o frg fa= &1 99 Fad 0 82 M
203113 17 "* “"ﬂ
E 4
57'85°38 42 - hﬂ" g 'l:. 15;'”‘%
29 2 3 R Y
“] 5'." (2) T “;h (3) 38 (4) T r;.\.'




. &

if2x + ) =35, th
En 4y + 1}? &

VLR
(13
as (3)9 (4) 10
: 1f a light flashes eve
" ¥ 6 seconds, how many times will it flash in % of an hour?
(1) 225 5 avi
T (3) 450 (4) 480
: hit an : : p
i :f{{;i_‘r]AM{-j [g?:‘ : ;Lﬂns ]muum'_musl}’ from two towns, P and O, towards O and F respectively
towards their res :E‘ el w!"l':h 15 midway between P and Q. Both Mohit and Rohit turn b
arting Dehaty thp Clive starting points whenever they reach R and every time they reach tt
50 kit respectem back and retum to R. If the speeds of Mohit and Roit are 43 km/h
ely and PQ = 24 km, when will they reach R at the same time?
(han.: 2668 (2) 11:36 AM (H2:12PM (4) None of these
i f1ve Ve bi.?gin to toll together and toll respectively at intervals of 6, 7, 8, 9 and 12 sec«
How many times they will toll together in one hour?
Lre (2) 14 (3) 6 (4) 7
97. Sum of two numbers is 17, whereas sum of their squares is 145. What is the product of th
numbers?
(D72 (2) 42 (3) 82 (4) 14
98 The difference between two positive numbers is 3. If the sum of their squares is 369, t
sum of the numbers is
(1) 81 (2) 33 (317 (4) 25
99. If one-third of one-fourth of a number is 15, then three-tenth of that number 1s
(1) 35 (2) 36 (3) 45 Lj} 54
5 1 & I'I'
100. Which one of the following fractions is the least:
29 31 E 1_1
57'85738 42 . %
31 A ke
(e (2) % ® 3 W 2
- BS
51
21
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